RESOLUTION OF THE PAPAGO TRIBAL COUNCIL

(ENROLLMENT - FEBRUARY)

RES. NO. <u>26-86</u>

1	WHEREAS, the Papago Council has reviewed the	recommendations of the Papago						
2	Enrollment Committee in accordance with Section 1 of Article VIII of							
3	the Papago Enrollment Ordinance, Ordinance No. 05-81, and has made a							
4		·						
5	final determination that the applic	ation of the following applicant						
6	for membership in the Papago Tribe	be approved:						
7	ARTICLE II - MEMBERSHIP SECTION (1A) ALL INDIANS	ARTICLE II - MEMBERSHIP SECTION (1B) ALL CHILDREN						
8	WHOSE NAMES APPEAR ON THE	BORN TO RESIDENT MEMBERS						
9	OFFICIAL CENSUS ROLLS	1360-SX-85 *MILES, Kristy M.						
10	186-CK-75 THROSSELL, Ruth E. (Jose)	1362-SX-85 *BROWN, Tanya R. 1363-SX-85 *MIRANDA, Valarie R.						
11	ARTICLE II - MEMBERSHIP							
	SECTION (1B) ALL CHILDREN	ARTICLE II - MEMBERSHIP						
12	BORN TO RESIDENT MEMBERS	SECTION (1B) ALL CHILDREN						
13	457-CK-74 *PARRA, Melvin R.	BORN TO RESIDENT MEMBERS						
	457-CK-74 "FAKKA, METVIII K.	816-ST-80 LUZ, Joann B.						
14	ARTICLE II - MEMBERSHIP	(Stephens)						
15	SECTION (1B) ALL CHILDREN	(ocephens)						
	BORN TO RESIDENT MEMBERS	ARTICLE II - MEMBERSHIP						
16		SECTION (1B) ALL CHILDREN						
17	1693-GA-85 *HOBBS, Anthony	BORN TO RESIDENT MEMBERS						
	1701-GA-85 *LOPEZ, Renee M. 1709-GA-85 *RAMON, Kirkland	2/52 C 0/ +1/4 VED Notocko M						
18	1710-GA-85 *LOPEZ, Fayrene C.	2453-S-84 *WALKER, Natasha M. 2671-S-85 *ESPINOZA, Angelina						
19	1711-GA-85 *ANTONE, Erik I.	2672-S-85 *ESPINOZA, Euphemia						
13	1712-GA-85 *RAMON, Hope J.	2673-S-85 *ESPINOZA, Gilbert						
20	1713-GA-85 *JOSE, Veronica Ann	2674-S-85 *ESPINOZA, Joseth						
91	1715-GA-85 *ANTONE, Jessica J.	2675-S-85 *ESPINOZA, Gavino S.						
21	1718-GA-85 *ANDREWS, Elena N.	JR.						
22	1720-GA-85 *GONZALES, Julia M. 1722-GA-85 *MOLINA, Martin A.	2676-S-85 *ESPINOZA, Rose H.						
	1723-GA-85 *FRANK, Verland A.	2677-S-85 *ESPINOZA, Ruben						
2 3	1720 an-00 Thank, vertana A.	2694-S-85 *DARRELL, Delisa D. 2763-S-85 *ACKERMAN, Evangelina						
24		2764-S-85 *ACKERMAN, Gary G.						
	ARTICLE II - MEMBERSHIP	2795-S-85 *ANTONE, Boyce J.						
25	SECTION (1B) ALL CHILDREN	2805-S-85 *MATTIAS, Madonna M.						
26	BORN TO RESIDENT MEMBERS	2806-S-85 *ANTONE, Kenneth D.						
20	1010 011 05 11110-11	2807-S-85 *ANTONE, Yvette R.						
27	1248-GV-85 *MACIAS, Elisia L.	2808-S-85 *IGNACIO, Karenina L.						
	1249-GV-85 *MACIAS, Ligel J.R. 1251-GV-85 *NARCHO, Brendon James	0.						
28	1265-GV-74 TORTICE, Janis	2811-S-85 *DONAHUE, Antonette						
29	1267-GV-74 TORTICE, Linda Marie	2812-S-85 *GONZALES, Peter A. 2813-S-85 *MOLINA, Rudy						
-	, arman num ru	2817-S-86 *ESCALANTE, Deleina K.						
30	ARTICLE II - MEMBERSHIP	2818-S-86 *GARCIA, Theresa M.						
31	SECTION (1B) - ALL CHILDREN	2819-S-86 *PABLO, Duane A.						
01	BORN TO RESIDENT MEMBERS	2820-S-86 *JACQUÉZ, Melinda A.						
32	934-GB-74 THOMAS, Sharon (Lewis) * MEMBERSHIP ONLY							

RESO. NO. 26-86 (ENROLLMENT - FEBRUARY) Page Two (2) ARTICLE II - MEMBERSHIP ARTICLE II - MEMBERSHIP 1 SECTION (1B) ALL CHILDREN SECTION (1B) ALL CHILDREN BORN TO RESIDENT MEMBERS BORN TO RESIDENT MEMBERS 3 1452-S0-85 *HOMER, Ryan C. 85-ND-76 *RUIZ, Reynaldo 4 ARTICLE II - MEMBERSHIP SECTION 1B) ALL CHILDREN 5 BORN TO RESIDENT MEMBERS 6 83-ND-80 HERNANDEZ, Cecilia (Galvez) 7 84-ND-85 *LEON, Armondo J. 86-ND-84 *ZEPEDA, Consuela C. 8 87-ND-82 ZEPEDA, Jackson 88-ND-82 ZEPEDA, Sandy M. 9 NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above 10 named applicants are eligible for enrollment as members of the 11 12 Papago Tribe under Section 1 (a) or (b) of Article II of the 13 Papago Constitution and By-laws, as amended, and that their 14 applications are approved, as herein above indicated. 15 BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of 16 the Papago Tribe reduce this final determination in writing regarding 17 each of the foregoing applications for enrollment in accordance with 18 Section 3 (c) of Article III of the Papago Tribal Enrollment Ordi-19 nance; give notice of this Council's determination in accordance with 20 21 Section 4 of Article III of the Papago Tribal Enrollment Ordinance; 22 and place the names of each applicant upon the Tribal membership roll 23 in accordance with Aritcle V of the Papago Tribal Enrollment Ordinance. 24 The foregoing Resolution was duly enacted by the Papago Council on the 5th day of February, 1986, at a meeting at which a quorum was present with a vote of 25 $\underline{1523.0}$ for; $\underline{-0-}$ against; $\underline{117.0}$ not voting; and $\underline{02}$ absent, pursuant to the au-26 thority vested in the Papago Council by Article II and Article V, Section 2 (f) of the Constitution and By-laws of the Papago Tribe of Arizona as amended, rati 27 fied by the Papago Tribe on December 12, 1936, and approved by the Secretary of the Interior on January 6, 1937, pursuant to Section 16 of the Act of June 18, 28 1934 (48 Stat. 984). Said Resolution is not subject to review by the Secretary of the Interior and is effective as of the date of its enactment by the Papago 29 Council. 30 THE PAPAGO COUNCIL 31 32

Jøsiah Moore, Chairman

* MEMBERSHIP ONLY

RESO. NO. 26-86 (ENROLLMENT - FEBRUARY)
Page Three (3)

MOVED:loe_	Juan	SUBJE	CT: Enr	collment Sec	tion 1A & 1	<u> </u>
SECOND: Aust	in Nunez		 			
DATE: <u>02/05</u>	# OF VOTES,	RESO	LUTION OR	ORDINANCE	# 26-86 ABSENT	
DISTRICTS		FOR	AGAINST	NOT VOTING		
SIF OIDAK	1. Elliott Lewis	69.0	Х			
138	(Eugene F. Jose) 2. Nicklos Jose (Letitia Garcia)	69.0	X			
SELLS	1. Andrew M. Patricio	128.5	Х			
257	(Nora Alvarez) 2. Fred Stevens (Dennis E. Jose)	128.5	X			
SCHUK TOAK	1. Joseph Juan	52.5	X			
105	2. Julie Carrillo (Jo Ann Francisco)	52.5	X			
SAN XAVIER	1. Johnx Exxxnew on o (Austin Nunez)	63.0	X			,~
126	2. Tony Felix (Carmelita Mattias)	63.0	X			
BABOQUIVARI	1. Javanny Marchya	120.5	Х			
241	(Edward N.Kisto) 2. Kenneth Chico, Sr. (Frances Miguel)	120.5	X			
GU ACHI	1. Angelo J. Joaquin, Sr	79.0	Х			X
158	(Jonas R. Robles) 2. Fernando Joaquin (Fred Adams, Jr.)	79.0	, X	:		
PISINEMO	1. Chester Antone	58.0	X	;		X
116	(Sylvester Manuel) 2. Johnson Jose (Edward D. Manuel)	58.0	X	:		
SAN LUCY	1. John Reno	42.5	X			
85	2. Max P. Jose (Dewey I. Ortega)	42.5	X			
GU VO	1. Cross Antone	58.5			X	
117	(Fern E. Salcido) 2. Virgil Lewis (Roy Montana)	58.5			X	-
HICKIWAN	1. Henry A. Ramon	64.0	X			
128	(Pablo Baptisto) 2. Lloyd Francisco (Eleanor Santos)	64.0	X			
СНИКИТ КИК	1. Rosemary Lopez	84.5	Χ .			-
169	(Anita C. Clark) 2. Harriet Toro (Marvin J.Thomas)	84.5	Х			
TOTALS		1640.0	1523.0	-0-	117.0	02